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Time : Three hours =~ : Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

ma

4

1.  Mention any two limitations of cost acqouhting.

Sl ssllwe sarsdulludear auampuapsdid. gGsab @UG@TL&};@W
BB - -

2. What do.you mean by Trend Perg:entaiges?
Curée dgriser upb Felli Glurr@"eiT Glesfrei‘rmél GTGHGT?
3.  State two advanfages of compérati\}e' balance sheet.
- @ulE snips @oLyBleas gL patmwsd GTaRT® SHS.
4. What are financial stater_rientS? !
BiFuilwie sifléemasar eremLimas wraneu?
5. Whatis mea;lt'by current ratio?
pl.ﬁH NEgLd eremped -

6. Write short note on debtors turnover ratio.

| poom (G- Manefgnent Slccoval

sLamaflser sHd ldsb LpBl Ap GHILY auemys.

7.  Define the term ‘Cash Flow’.

M

- ‘Qnés UL ereip Ggmdellenan cuanywig). -
8. -What is interim dividend? |
QL_ESTQ) LIBISTSTWILD GTETDTE) GTEITEN?
9. Wha't do you mean by Fléxible Budget?

Apdlpey eurey Gseway HLLLb erémLigean GUM@HET cremen?



d 10. Whatis a budget manual"
k .enua.] (AEEET] ﬁl_r_m &G (H ereipre .ermaﬁ?
11 What do you understand by paywback period7
‘ ﬁ@mu Gu@m SreoLD erétrig) LHDH ﬁo&]rr qlﬂpg Ge;nmsug erenen?
: 12. Define Net Present Value’.
Bag pi o eonup.
PART B — (6 x 5=25 marks)
- Answer any FIVE questions.
13. Explain the scope and objectivee of management aceoylnting.
Gioererento SHetwrésEuduies e Grsb'méo oHOID Gprtés&@smm MNeréEs.
. 14.. From the following profit and loss account of Eveready Co. Ltd.,
for the year ending on 31 March 1998 and 1999, you are

required to prepare a. comparatlve 1ncome statement and
commenton the performance

Year ended - Year ended .

Particulars 31.3.1999 . '31.3.1998
-k el Rs. | Rs.

Sales - . 12,80,000 - - 9,60,000
Less : Cost of goods sold 7,12,0000 . " '4,96,000
5,68,000 ~ -  4,64,000
Less : Administrative expenses . 2,566,000 1,7 6,0'00
Selling expenses i . 1,44,000 1,68,000
Interest charges ‘ » 6,400 9,600
4,06,400 3,563,600
Net profit before income tax 1,61,600 . 1,10,400
Less : Income tax @ 50% 80,800 55,200
80,800 55,200
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S0 oo Heareumd ssedsmer 2jqliumL wngs Qsrear® prere
eilgorer Aurglamer 2 puss Qeig eupsg. 1989, wrié 31—
@PIGEMID peD) MsSSDaTer @i 2 HusH L (il gwieme swnflés. .

QuirgsLsaflen 1.1.89-6 1989-@ gemeuf —  31.3.1989-4 apigy
s  Flifilouce wm@dlidiioute Qalwdul L @nd
qué;e&]@uq . ‘dlpuene - y&ElmLy
(sw@sdn) . - - (sogsd) (S10@sdr)
A 8,000 - - 40,000 12,000
B 12,000° 60,000 20,000
C 116,000 E 52,000 . 12,000
D~ . 12000 48,000 A 8,000

24. ABC Chemical Company is considering two alternative methods

.'of processing a chemical product for future commercial use..
Equipment costs for both methods will be evenly depreciated~
over a 20 year period : y

Imt1a1 Cost Annual Income

_ Rs. ' ° - Rs.
EquipmentA . 12,00,000 90,000
Equipment B 15,00,000 .  -1,35,000

If they are ranked by the average rate of return method which
equipment is preferable‘?

ABC cremp Qafléase @gumarrm gangl edlisre ecuafls fHulleomer
2 LCunssHpsns @ream®, Grerae @endlaar Goirey Galieushamer
ugfleesear papular apab g Qsllssd Gurmalomear surss
Sroneflgss. Qrear® wpansEnéEd Coibs o usyaisaiar L és
wdludler  sflaowrs  Cswwrend 20  euBLESET  euaiy

a{@mﬁaauuu_g My
Q558 28 Qswe aum Gu@mrram.o
~ () .
2 LisgeTD A 12,00,000 90,000
e usjamdB . 15,00,000 © ~  1,35,000

Fynad @@mu sLLewm penpuiled emeusar mlﬂm&uu(ﬂgguul_l_rra)
aThg 2 LSy wper HLILESMwg?
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23,

Bouyblens @bluser
Qumpiuerer | 2005 2006  Qemsgiéser 2005 2006
. . - TR o o
gngmyem LkiGapge - 20,000 20,000 pH@uwir 2,400 2,400.
Qurgigsniy . 2,800 3,600 P> 8,000 7,200
@ - plL &/ 3200 2,600 stuLdsdr 7,400 7,200
Lpue sLalpGamisd 1,600 1,080 cpseSGad 2,000 2,200
QB;IT@LI; Ga.uam‘nq_u_l . arE@seT
Qeweser . - 240 160 Qargd 6,000 4,680
. aufl @gi550 ©-8,200 3,600 Quipm
QI SL_GaeT i sandgmer 4,000 4,440
RPSEG 80 120 ewmd @iy 1,320 3,040

Qemeu(mid @a)rru - plL senéE erelg ae@ry  SLQuE
aSluS]Gh_l_Lq_m 1998 wpmid 1999 —1b &g WwNTF 16> %MGI_IT(B
Gyemid ey pereg, Beli Comauwiman SUSLH i

réq,r_f)]aamaa gaplaar swriss GCugib .g);g,@ﬂm Gewdur@eer . Lipb

31,120 31,160 31,120 31,160
1Gletreu(hLD. g (HSed aﬂuuméd; <eflGaling Herarg :
(<) om ga® Hob Cuaitb 0.800 &@& lpsi L g
() &gl dgeflen Bg) 5. 1,400 —&@ Gsuiomend AfssnucL g

(@) el REEEL1 DG PiaimLSHD 5. 3,800 e meursaIIL L g).

Prepare. a production” hudget for three months ‘ending 31t
March, 1989 for a factory producing four products on, the basis of
the following information. . 4 .
Type of Estimated ' Estimated sales Desired closing
product Stock ' during stock on
’ : . on 1.1.89 . Jan—Mar 1989 31.3.1989
(units) (units) — (units)
A 8,000 40,000 . : 12,000 .
B 12,000 .60,000 20,000
C 16,000 52,000 12,000
D 12,000 ., 48,000 8,000
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5@551“"1 S0 :
-%ﬂ'vfr@ 266
effliyrugeir PR eYDISD PSS
31.3.1999 31.3.1998
®© .
efdriemer 12,80,000 - 9,60,000
&0185 : elpLianer syéflen LS 7,12,000 4,96,000 -
5,68,000 . 4,64,000
sifés : Birainss Qseoisdr 2,56,000 1,76,000
D Lianer GF6 ST 1,44,000 1,68,000
‘G_u l._lq.ésailTGOT éEI;l_-G;ﬂTr!'il.&dI' 6,400 9,600
4,06,400 3,563,600
aubLoTeT auféE, qparrurrafr By 1,61,600 1,10,400
. @emud
&fé5 : aupLomer eufl sLLewrd 50% 80,800 55,200
- 80,800 « 55,200
5. - Calculate :
(a) -Current Assets
() Liquid Assets
(© Ipventory.
Current ratio=2.6: 1
Liquid ratio = 1.5:1
Current liabilities = Rs. 40,000
sasHHs :
(@) priy Qengg |
(éj,') Birenwo Qemggidse
(@) ersdmuy
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pLLiy efldlgib =2.6 : 1
Bienwo Gﬁ]é,]g,l.o =1. 5:1
‘l_T)l_LILI Gurrguq&&;m 5. 40, OOO :

16. From the figures glven below, calculate cash from operatlons

. Particulars

Trade debtors
Bills receivable
Stock-in-trade

- Prepaid expenses

. Accrued income:
ASu_ndi"y creditors |

: Outstandiﬁg expenses
Bills payable -
Income received in advance

* Profit made during the year

&G Qardésii’_erer Leraf aﬁ]mmmmﬂaﬂ@pgj Qmua)urr@mﬂaﬂ@w

Quprml eresa;g@mm sanEH0DS.

@Sﬂumﬁw;d‘r

edwrumry sLereflgGer
QupspEL LIHHEE G
eflwmurygdle 2 erer sy&E LI
wpensal g GrausHw GFoayser
@aﬁlpgmw GU(HLDITETLD

u ,rj)uclu', sLaipCgnrseT

Lq_sLbur'r31
1998 1999
. (.
1,50,000 " 1,30,000
50,000 40,000
1,20,000 1,45,000
30,000 25,000
20,000 27,500
80,000 1,10,000
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December 31
©1998 . 1999
Rs. Rs.
1,50,000  1,30,000
50,000 . 40,000
11,20,000  1,45,000
30,000 25,000
20,000 27,500 °
80,000  1,10,000
4,000 5,000
130,000 25,000
3,000 4,000
= 7,50,000

BPG6A/BPM6A

22. Ramaraj Ltd., furnish you the following balance sheets for the
' years ending 31 December. 2005 — 2006. You are required to
prepare a cash flow statement for the year ended 31.12.20086.

. Balance Sheets .
Liabilities , 2005 2006 Assets 2005 2006

Rs: - Ra. - A - Rs. Rs:
Equity share capital 20,000 20,000 Goodwill . 2,400 2,400
General reserve 2,800 3,600 Land 8,000 7,200
Profit and Loss A/C 3,200 2,600 Building 7400 7,200
S{undryI c,red_itex:s . 1,600 1;080.,.Ilnvestment' - 2,000 2,206
outstandiné : Inventories 6,000. 4,680
e);p.enses ' 240 160 Accounts
Provision for tax 3,200 3,600 receivable . 4,000 4,440
i’rovision for : . - . Bank-
baddebts - 80 120 Balance- 1,320 3,040
| 31,120 31,160 : 31,120 31,160

Following additional information has been supplied :
(a) A piece of land has also been sold for Rs. 800

(b) Deprec1at10n amounting to Rs 1,400 has been charged on
bu1ld1ng :

(©) Provision for taxation has been made for Rs. 3,800 during
the year. :

gribpry MOHQLL 31 wsbui 2005 — 2006 p@THLET @Pyemid
sp@mapstar  Aaraumd  @@Uubes | Gilusmer  21&G
swiliGsgererg. Belli Csmawrer Qrrés @Ui dEmsdamen
31.12.2006-1b Syer(HLe (g eymid @ (HEE SWTilés.
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Particulars’ .- Rs. Particulars
Profit on sale of fixed assets 600 Stationery
Loss on sale of shares 300 Depreciation
Opening Stock 11,000 .Other expenses

You are required to calculate :
(a) Gross profit ratio

(b)- Operating profit ratio

‘(é) Operating ratio’

(d) Net profit ratio.

Lﬂwm@m Leirat aﬁlmuma;crr wreyd 31.03.2007 - pryeymid
Syamgpster @@  Howogder wimury LU EEESHET

QBT EnL STEGLD.

eNLIPRISET €.
sSpiiamen , 1,00,000
QamaTapsd 70,000
And srsdmiy 14,000
eflpLene HpLILd 4,000
urisTSTWD Qudps 1,200
foaQsrsgssman edppHer
apeid QUL L Eemid 600
LIRI@GSaneT. aﬂﬁ)méldr apaLD_ '
FHUL L pagL LD 300

Sbu EFEHmUY . 11,000

Provision for tax

eSlurkigeT

Rs.
200
1,000
2,000
7,000

-

afpueenurerfier earglwb 1,800

Bedli Ggm@wﬁmw@mm&@r&é\@s 5

(=) Qurgs @y A5

(<) Qewdun @ @wr 8
(@) Qsweur @ elésb

(w) Har @e;nu Bsib.

efembLimD ‘ 700
CuTE@aLTES Dswaser 500
FDLIETD (aIQ]GUQMSLb)V ' 3,000
QUL D& 6,000.
ﬁ@g@un@m&@ﬂ 200
Ggiliorenld 1,000
Fgamany QEweyser 2,000
ol @S0 7,000
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gagouf 31
eSlugrIgEeT

1998 1999

. .
Qan@uL Cousimia s Qeweyser _ 4,000 - 5,000
QeasspEAL LIPHIEELE " 30,000 25,000
e QUpLLLL aipiotemd . 3,000 4,000
.@mm@_gg@ Qo - - ~17,50,000 .

Compute funds from operatlons from the following profit — loss
account : . i ‘ -y

Profit and Loss A/C. ,

N RS. = i k . RS.

To Expenses paid 3,00,000 By Gross profit 4,560,000,
To Depreciation 70, 000 By Gam on sale of land 60,000

To Loss on sale of machine 4,000

To Discount allowed 200
To Goodwill written off 2,000
To Nét profit 1,33,800

B _'T-
5,10,000 : 5,10,000

ﬂéraj@m @aru - BLL a;awra;élsﬁl@‘r_r;gj G&u.:a)urr@asaﬂaﬂ@pg
Qupriul L Hfulienar s b :

@corru —BLL asawrés@

© C ®

QegisBrilL Gewayssr 3,00,000 Guonss Gamd . 4,50,000
Cginomemd "70,000 Heb efipucren

@uiri AppSHo gpucL pesid 4,000 Qeighéd Aol s gsrud 60,000
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©. : o
s@us SI@Idsss 200
BHAULIT GunsQswdiug 2,000
oy Gomid rd 1,33,800

5,10,000 5,10,000

18. A Firm produces two products called ‘A’ and ‘B’. The opening

19.

balance of the products are 7,800 units and 8,400 wunits
respectively. The estimated sales during a month are 14,700
units and 15,300 units respectively. The required closing
balances are 8,200 and 9,000 units.

Prepare production budget -
@0 Howd ‘A’ wppd B eaedm Qren® GummeTaamer 2 HusS)
Qaizg|. cgqu@urr(@mesaﬂm -TbLL.  @HULET  apennGiL 7,800

Sio@sdr wHnb 8,400 swGsaT EGD. @ wrssSHe sr@rr
Lmr&auL Gﬁlmumm -@pevpGw 14,700 aqa)@aserr wpmid 15,300

SAVGsTT HEh. Comawrer Qpd Qmigsdr weanGu 8,500
SIw@&6T HHID 9,000 SIwEEEHT @0,

2 HUGH AL Siflsmsulienar swrfss.

The following are the particulars relating to a project.
Cost of the project Rs.

Operating Savings 50,000

1‘st Year 5,006
2nd Year 20,000
3rd Year 30,000
4th Year 30,000
5% Year 10,000

Calculate : ‘
(a) Pay-back period ignoring interest factor and

(b) Discount pay-back period taking into account 1nterest
factor at 10%. : :
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@@ ﬁl_l_l.o Qgm_irumar eflLipmiser lfl]GbTQJ@LDITQ]
Sl gdlen oi_ssellame .

Q&U-IG'\)'I_IFI'I'_@GELIS]ILIL.]a;dT 50,000

S 0 . 5,000
@remmb @@ 20,000
EPEDILD e ) 130,000
Bragmd per® - 30,000
BESTD e 10,000

SaTEH (NS :

(1) Spibu Qumid  sresHamen auLig a;m;mﬂuﬁ]smeﬂ p_mm_asé;]
) a;mra;és]@a; ; ~

(=) eutig aryenilullener 10% a;awra;é]eu GI'@:&I;Q]BS Q&rram@ g,en@ulq_
Smbu Quuub sresBamen FEOrTory

PART C — (3 x 10 = 30.marks) .

~ Answer any THREE questions,

20. What are the limitations of management eccounting?
Guaramenio samédudwielen cuammuampsar u.mmm?_
21. The following figures related to the trading act1v1t1es of a
company for the year ended 31.03.2007.
Particulars ~ Res. Partfculars Ré.
Sales 1,00,000 Salary of salesmen 1,800
‘Purchases " "~ -70,000° Advertising - 700
Closing Stock 14,000 Travelling expenses 500
Sales rei:urné : 4,000 Salaries (Ofﬁce) 3,000
Dividend received 1,200 Rent ) 6,000-
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